Physics 12 Unit 4 — Momentum Worksheet #2 @
2-D Problems including Gov Problems
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Momentum is a vector quantity
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1. A 1200 kg car traveling north at 120 km/r collides with and sticks to a 1600 kg truck
travelling west at (00 km/fmy Find the velocity (magnitude and direction) of the wreck.

T i = mv =YY, 444 N-5
%’Rucl( /

use PS-}MSD (zs Ho find 2
e gl

i

1'(310 = 59,313 3]

3
L,

7
C, o
793 7Y wof
v ®» V=P '=§jl-- ----- . nb= [/q/_....
i /m oD to 29,79

V= al.35m/s| 6 =48° W &N
of wreck

OoR 43° A}on

2. A 1200 kg car traveling north at 120 km/r collides with and sticks to a 1600 kg truck
travelling 20 degrees south of west at 100 km/hr. Find the velocity (magnitude only) of

the wreck.
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3. You can use Pythagoras.

A 1.5 kg physics block ¥s sliding at 8.0 m/s north when it is hit by 2 040 kg ball of puity going
20 m/s west. The putty sticks to the block. What is the magnitude of their combined momentum
after the collision?

A, 40kgwmis
B. ’.9km/s

D. 20kgm/s
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4. You can use Pythagoras.

Sally is driving south in her 2 500 kg pickup truck at 3.8 m/s when she collides with Willy
driving west in his 1 200 kg car at 4,5 m/s.
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The two vehicles lock together and slide over the wet parking lot. Find the speed and direction
of the damaged vehicles immediately after the collision. (7 marks)
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5. Add the two before vectors tip to tail.

Two steel pucks are moving as shown in the diagram. They collide inclastically.

Before Collision Vs After Collision
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6. All three vectors need to add to zero.

Three objects travel as shown.

H
i
2.0 kg i

P-—M‘INS Q*-*F“

7.2 m/s .

What is the magnitude of the momentum of object R so that the combined masses remain
stationary after they collide?

A. 19kg -m/s \/———— P'F =0 50
B. 30 kg-m/s

C. 36kg-m/s

D. 48kg-m/s

W Po =362 b3
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